SAMPLE PAPER
(CLASS-X) (PHYSICS) (SECTION-A)
1.%@3%ﬂaﬁtaﬁwr@ﬁ%m(% maintain)aﬁqﬁﬂﬁﬁﬂ'ﬂ?ﬁﬁ%—

(a) T (b) AeeHII (c) St (d) & e
The device which maintain the potential difference is :-
(a) Ammeter (b) Voltmeter (c) Battery (d) Rheostat
2. farfste wfeder (fcrershan) 1 S.1. 9T BraT &:-
(a) 30 (b) 37 x WX © (d) A
The S.I. unit of resistivity(specific resistance) is:-
(@) Ohm (b) Ohm x meter () r::::r (d) Volt
3. afe forelt fergga et o ciq sh1 Sfcrier 1200 AT 2, A1 o8 sIeal 220 ale o Bild ¥ fohaT forge emr < :-
(a) 0.18 A (b) 5.45A (c) 14.40A (d)2.2A

The resistance of a bulb is 1200 Ohms, if it is connected to a 220 volt source what would be the
value of electric current: -

(2) 0.18 A (b) 5.45A (c) 14.40A (d) 2.2A
4. Frfafiad = & e ve foega wftrer # forega wifes o1 Ffi 8 e 2:-
() ° R (b) IR? () VI () V?f

Which one among the following does not represent electric power in a circuit:-
@) 12R (b) IR () VI (@)%
5. S R 3 foRel A 3 gors ol Tie e T H Shlel ST 2| 37 s ohi UL TTshA (AT 3hH) H EIord &

2% e o 7 e i R 2, — srgare v -

1 1 5 25
O (b) < ©7 @
A piece of wire of resistance R is cut into five equal parts. These parts are connected in parallel

if the equivalent resistance is R'. then find the ratio of % =?

1 1 25

(@) 55 (b) 5 ©7 (d)
6. %ﬁmﬁgﬁés—mramagﬁamzzov, 100W 31 T 110 V 35 g e G, A w1 fepeet Bl
(a) 100W (b) 75W (c) SOW (d) 25W

An electric bulb is rated 220V and 100W When it is operated on 110V, the power consumed
is :-

(a) 100W (b) 75W (c) 50W (d) 25W
7. 176 S Tiarg o ford STaRTesh shi qrsha & ST s foh 220 V o Fored EeisH € SA 91 YaTfed al-
()1 (b) 2 ()3 (d) 4
How many 176 Ohm resistance (in parallel) are required to carry 5A on a 220V line ?
(@)1 (b) 2 ()3 (d) 4
8. 1 KWh (1Z&) = ....ovvveeeeee. S
(2)3.6x10°J (b) 36x10° J () 3.6x10°7J (d) 36x10° J
1 KWh (1unit) = ............... Joule:-
(a)3.6x100] (b) 36x10° ] (c) 3.6x10°] (d) 36x10° J

9. Toreft arstral Siferer o wicrrersh o foi ot 12V 3t it bl wifasht o0 2.5 mA forega am sarted it 81 wfress
a1 Wiy feraem g
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(a) 4.8 KQ (b) 4.8 O (c) 48 KQ (d) 0.48 O
When a 12V battery is connected with an unknown resistance, there is a current of 2.5 mA in
the circuit, find the value of resistance :-

(a) 4.8 KQ (b) 4.8 Q (c) 48 KQ (d) 0.48 Q
10. 220V = Torgld TTE T YT fohT ST aTet SIgd | sfesll 3l STTAdIH 10W 81 AfS 220V TATET & ITIHA HAereheH,
TR 9T SA &, 1 39 TS o Q1 AW o S foha ! o qTshe & SIS 9T ST #ehd g
(a) 220 s (b) 1100 S& (c) 110 5/es (d) 2200 S
Several electric bulbs designed to be used on a 220 V electric supply line are rated 10W How

many lamps can be connected in parallel with each other across the two wires of 220V line if
the maximum allowable current is 5A ?

(a) 220 (b) 1100 (c) 110 (d) 2200
11, e 5 | 1T TaTel i ST o o1 STIh e TR ST Hehdll 2

(2) 9 (b) Fi==t (c) T (d) gt

Which one of the following materials cannot be used to make a lens ?

(a) Water (b) Glass (c) Plastic (d) Clay
12. foref} roeent (dictionary) ﬁEITQTI'Q@% mﬁ%ﬁwméﬁwﬁﬁ?

(a) 50 cm HIHE W T I (b) 50 cm TIHH gl T el oiFl

(c) 5 cm WIHH 3 1 3 At (d) 5 cm WIHE T el o

Which of the following lenses would you prefer to use while reading small letters in
a dictionary?

(a) Convex lens of 50 cm focal length  (b) Concave lens of 50 cm focal length

(c) focal length 5 cm of Convex lens (d) focal length 5 cm of Concave lens
13. Toreft TTrettar aefor qor foreft aaet Tttty ie QT 361 Bishd g1 - 15 cm 21 90T oI S e e -
(a) AT e (b) A 3t
(¢) TYUT adA I A A (d) T 3T F AF A
A spherical mirror and a thin spherical lens have each of a focal length -15cm they maybe:-
(a) Both concave (b) Both convex
(c) Mirror concave and lens convex (d) Mirror convex and lens concave
14. T 9ET | a1 390 T ST 2
(a) 30 OEELS (c) A (d) gwaet
The mirror used in a solar furnace?
(a) Convex (b) Concave (c) Bifocal (d) plane
15. 38 19 =1 BIsh gt T it fSrershi a7wfelt +2.0D ©-
(a) -0.50 m (b) +0.50 m (c) 50 cm (d) -50 cm
Find the focal length of a lens whose power is +2.0D :-
~ (a)-0.50 m (b) +0.50 m (c) 50 cm (d) -50 cm
16. & 1 1T (P) oI Hiehd g (F) W e weler )
P-— b)P2 == P-= QP -—
@P= by P =— () P=2 P=x3
The correct formula as a relation between power of lens (P) and focal length (F) :-
(@)P=5 (b) P2=7 ©P=7 @P=5
17. gefor GefteReoT (29T §) FHE 2 -
1,11 Gl11 111 S
@y 2TF ®y-27F ©OyXL"F Dy ~27F
Mirror equation is :-
1 1 1 1 1 1 1 1 1 1 1 1
@y*+a=% ®)y-2=% ©7x%=% dy+2=%




1 11 1 1 1 1
@y uF ®yuF OV*u"F
Lens equation :-
1 1 1 1 1 1 1 1 1
@F+2"7 ® -2 7 ©y*3"F
19, Frerfer # wehrer shY =rme (C)enT W& W -
(a)3><10'8% (b)8X103% (c)3><108%
The value of speed of light (C) in vacuum is :-
(a) 3x108m/s (b) 8x103 m/s (c) 3x108 m/s
20. HTEAH o e (FRueT) #1 g 2.
@p=3 ® h=g @ pu=3t
The correct formula for absolute refractive index is:-
v |41
@) p =1 (b)u=* @u=2
21. T o frem & wsifer w2t o 2
sini sinr
(a) U =sini+sinr (b)‘u:sinr (C)‘u:sini
The correct formula for Snell law is :-
@u-snicsne Oued Quel
22, JFTRI & |
(a) A (b)B (c)C
The proper symbol of magnetic field is :-
(a) A (b) B (€ C
23. FFIHIT & T S. 1. Hh B-
(a) ZHT (b) S (c) Al
The S.I. unit of magnetic field is :-
(a) Tesla (b) Weber (c) Volt
24, TETSH 1o SIS - TSI G o FFaTehi= TTE 3l TR (R -
(a) %S (b) T (c) ¥frEe

(d) 8X10'3%

(d) 8x103m/s

(d)D

(d) D

(d) TR
(d) Ampere

(d) =

First of all Which scientist proposed the magnetic effect of electric current :-

(a) Faraday (b) Lange (c) Orested

(d) Newton

25, few T formr & i el fohell rerehiar &t &5 o wielerd JaieT HdT 21 Tetagie o ST sfet 1 ferer a7 2

(a) TS 3T

(c) TITST & ST

(d) FTTST o T
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In the given diagram an electron enters in a magnetic field at right angle to it the direction of

>

)- Magnetic field

>

\ 4

Electron
force will be :-

(a) Right (b) left (c) Out of the page (d) Into the page
CHEMISTRY
26. ST T51eF a1q a7 H,SO,, 3 |TeF T5haT et af 7k 714 -
(a) H, (b) O, (c) Hel (d) SO,
When zinc metal reacts with dilute H2SOy4, the gas liberated is-
(a) Ho (b) O2 (c) Hel (d) SO2
27. A ATELE I K1 3 Aext ARlsran Seretor 2-
(a) farEemg= =t (b) Tefereem =1 (c) ATET T (d) TR T
The reaction between lead nitrate and KI is an example:
(a) displaceme (b) double displacement
(c) decomposition (d) addition
28. ST -
(a) SRS T AT EATR | (b) BTSSISH T AN BIeT &
() SIS JIeh BTt 21 (d) SAFIT T AT BT &
In oxidation -
(a) Addition of oxygen occurs (b) Addition of hydrogen occurs
(c) Oxygen is isolated (d) addition of electron
29. T 5 § Torer 9T i TR foretar & SfcreerTid R <-
(a) CaSO, (b) FeSO, (c) AgNO; (d) NiSO,
Which of the following metals will replace copper in solution?
(a) CaSOq4 (b) Fe SO4 (c) AgNOs3 (d) NiSOy4
30. T Wt X' W ST H SR AT € AT <A1 Fod § 16 Bl & et X' F |
(a) CaOCl, (b) Ca(OH)2 (c) CaO (d) CaCos
A substance 'X' is used in whitewashing and is obtained from limestone.
(a) Caoclp (b) Ca(OH)2 (c) CaO (d) CaCos
31. U H Iufterd Hfewam Hrehe BT 8-
(a) &R (b) At (c) e (d) S9FEdH
Calcium phosphate present in toothpaste is-
(a) Alkaline (b) Acidic (c) Neutral (d)Ambidentate
32. STHIIRY ShT STRARIAT b G A ATt STy 8-
(a) TOAETAIEH (b) TATA S (c) TSHTA (d) Tirees T BfImT
The medicine that removes acidity of the stomach is-
(a) Antibiotic (b) Analgesic (c) Ethanol (d) Milk of Magnesia
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33. TR ST AT 1 -

(a) CuSO, .H20 (b) CuSO,. % H,0 (c) CuSO, .5H,0 (d) CuSO,
The formula of Plaster of Paris is-
(a) CuSO4 .H,O (b) CuSOs, % H>O  (c) CuSO4 .5H0 (d) CuSOy4
34. SR GIST H Iufeerd foReeer St o STUAT hl HEAT &-

(a) 10 (b) 8 () 6 (d)2
The number of molecules of water of crystallization present in washing soda is-
(a) 10 (b) 8 (c) 6 (d) 2
35. forett forerart <1 P! &1 W 13 2 <t a1@ forere B
(a) goict AT (b) i SrreATT (c) IS 3T (d) eI ATET

If the PH value of a solution is 13, then that solution will be-
(a) Weak alkaline (b) Weak acidic (c) Strong acidic (d) Strong alkaline

36. TS Y ST et 2-
(a) Sk TTFETES (b) HTH ATHITES (c) TSI ek TS (d) STUE | | IS Tal
Rusting of iron occurs-

(a) Ferric oxide (b) Ferrus oxide (c) Hydrated ferric oxide (d) None of the above
37. <A o S H IUTed 3 B-

(a) TAZH A (b) TAZH A (c) TEifeeh 3t (d) Bfeter et

The acid present in the sting of ants is-

(a) Methanoic acid (b) Ethanoic acid  (c) Acetic acid (d) Mallic acid
38. Teh el shT TLATY] SFHIeh 12 @ it S8ehl THeheas Ich et B -
(a) Eicfiam (b) it OELE (d) foreef
If the atomic number of an element is 12, then its nearest noble gas will be -
(a) Helium (b) Neon (c) Argon (d) Krypton
39. IeafTeRTeT § re i SRSl T IR fore oTg 3 =IgTs STt -
OMEE (b) feT (c) TeHtfEm (d) It A
In 'Galvanization' a layer of which metal is applied on iron objects?
(a) Zinc (b) Tin (c) Aluminum (d) Silver
40. 37T H Iufterd SRSt e ol
(a) Ut AA (b) TS Uk (c) @ (d) St
Impurities present in ore are called.
(a) Metallurgy (b) Anode (c) Mineral (d) Gangue
41. FTSHE SRR T AT hT IR H SFefereh T AT Hgerar e
(a) Wi (b) Feama (c) TTer (d) o=
Excessive heating of carbonate ores in the presence of air is called-
(a) Roasting (b) Calcination (c) Smelting (d) Reduction
42, wrug ferfer g gifgertor fohar T @-
(a) ot =T (b) TR HT (c) AR T (d) Fiferer =t
Purification of metal is done by Mond method-
(a) Gallium (b) Copper (c) Iron (d) Nickel
43, geAt i g W T G § U ST JTe ded 8-
(a) Fe (b) Al () Si (d) 0,
The element found in greatest quantity on the earth's surface is-
(a) Fe (b) Al (c) Si (d) O2
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44, THIEH %7 [UPAC 9 8IdT 8-

(a) T (b) ST () JMU-2-37 (d) HeTeT
The IUPAC name of acetone is-
(a) Ethanol (b) Propanone (c) Propan-2-one  (d) Methane
45. Cy Hyo H SUTQ it HeeioTeh el hl T 8-
(a) 10 (b) 8 () 13 @) 12
The total number of covalent bonds present in C4Hip is-
(a) 10 (b) 8 (c) 13 (d) 12
46. B T o SpeITeTeh T & RN I8 -
(a) TEA FOR BT & (b) ST WL ATt BIeT B
(c) 5Tt F safeta gar @ (d) 38 ITH T Soiag | A2l 21 &
Diamond is a bad conductor of electricity because it -
(a) is very hard (b) has complex structure

(c) is insoluble in water

(d) It does not have free electrons

47. T qcd X! T ST 9 16 3 61 G & AT 36eh! HAISIRal gl |
(2) 6 (b)2 (©1 (d)3
If an element 'X' is a member of the third period and group 16, then its valency
will be.

(a) 6 (b) 2 (©1 (d)3
48. HUSTHI o THY el [Tl el shl ST off-
(a) 63 (b) 65 (c) 81 (d) 54
At the time of Mendeleev, the total number of known elements was-
~(a)63 (b) 65 (c) 81 (d) 54
49. T T Tod T ST e ol 7 BT 2 |
(a) THTCHS (b) STCH (c) S (d) =rs T
The value of second electron affinity of elements is.
(a) Positive (b) Negative (c) Neutral (d) None
50. T 5 9 ST dea 5T STAEAT H IR ST ¢ |
(a) HTH (b) BTEEISH OES! (d) s
Which of the following elements is found in liquid state?
(a) Sulfur (b) Hydrogen (c) Water (d) Bromine
BIOLOGY
51. uTgEaE o for@ued g0 CO, , STe o 1l 31 o1 BT 8-
(a) =ifrrE= 7 (b) =it ®  (c) sRactaw | (d) F=ad
The breakdown of private to give cO, Water and energy takes place in-
(a) Cytoplasm (b) Mitochondria  (c) chloroplast (d) Nucleus
52. T H STEeH -
(a) St o1 Hareet (b) i w71 st
(C) ST STt st Here (d) sAteretsr 1 dae
The xylem in plants are responsible for
(a) Transport of water (b) Transport of food
(c) Transport of amino acids (d) Transport of oxygen
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53. FHT S aTel Bl 8-

(a) 80 mmHg (b) 140 mmHg (c) 120 mmHg (d) 60 mmHg

The normal systolic pressure is about in mmHg-

(a) 80 mmHg (b) 140 mmHg (c) 120 mmHg (d) 60 mmHg
54. TOrRT A5 T AT AT S Afcrardl] fRrsl 1 FRIAoT e 2-

(a) nf&a=h (b) Ay (c) sl (d) srmfEash

Which part of nervous system controls the reflex activities of the body ?

(a) Brain (b) spinal cord (c) Cerebrum (d) Cerebellum
55. 31 U o HEA ST I FHET ST 8-

(a) Sgre (b) ferea (C) Tt (d) sroem

The gap between two neurons is called-

(a) pdendrite (b) Synapse (c) Aaxon (d) Impulse
56. IET q1eY B &, ST shIf3TehT ford TSt sl UG o 2-

(a) i (b) Frsife (c) @t st (d) ushiférs Ufers

Which plant hormone stimulates cell division?

(a) Auxin (b) Gibberellin (c) Cytokinin (d) Absicic acid
57. 599 9 Q=] 9 afE-@met Ui o1 s hdt -

(a) st by (b) swmer () arstigg afer (d) ermgme zifer

Which of Endocrine the following acts an both exocrine and exocrine gland?

(a) Adrenal gland (b) Pancreas (c) thyroid gland  (d) Thymus gland
58. Tegwg & U =afth # ford gt i et 2 STt 27

(a) rstifee (b) ewretm (C) wEgreH (d) sgfe

A diabetic patient deficiency of suffers from which hormone?

(a) Thyroxine (b) Testosterone (c) Oestrogen (d) Insulin
59. I 9T g U1eq ST | SHvfdT st fareifera swear 27

(a) i (b) Fretfer (YEIECiEHEE] (d) sersef

Which hormone delay ageing of plant organs?

(a) Auxin (b) Gibberellin (c) cytokinine (d) Ethylene
60. TATSTATIERT H IST B 2-

(a) gFe (b) @t (C) geawe (d) et

spirogyra reproduce by-

(a) Budding (b) Fragmentation (c) Regeneration  (d) Fission
61. T T o TR & TATRUT 3T SfTRTET TR AT e @ -

(a) Fror=e (b) Ay (C) geawe (d) T

The transfer of pollen grains from the anther of a flower to the stigma is called -

(a) Fertilization (b) Copulation (c) Regeneration  (d) Pollination
62. TFHT 6 GRT AN S 81l 8-

(a) smfrar (b) e (c) wermsritfem (d) efemfem

Asexual reproduction budding takes place though

(a) Amoeba (b) Yeast (c) Plasmodium (d) Leishmania
63. T HF e H Fo et 1 St 31T 2-

(@3:1 (b)1:2:1 (c)4:1:2 (d)9:3:3:1

Genotype ration in F2-generation of monohybrid cross is
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(@)3:1 (b)1:2:1 (c)4:1:2 (d)9:3:3:1
64. SHfTeh TETE feRe foam ot

(a) S (b) =i (c) 7 (d) st & g
Natural selection theory given by-
(a) Lamarck (b) Darwin (c) Aristotle (d) None of these

65. T8 ST ST Ieqfer F YT T T AR St § SFHH &N 8, e o-

The organs which are similar in origin and basic structure but different in functions

are called-
(a) @<TTd 3T homologous organ (b) 3Ta=IH 31T vestigial organs
(c) @HdT 3T Analogous organ (d)adc3H bothaand c
66. ST sh S1Tg 1 T 2! farfer -
(a) et (b) s wT () (&) T e
The method used to detect the age of fossils.
(a) Radiotherapy  (b) Centrifugation (c) Biopsy (d) Carbon dating
67. Srfire IeaTE -
(a) B (b) @i (c) 3fem (d)
Primary producer is-
(a) Green plant (b) Rabbit (c) wolf (d) Lion
68. SIS T T THHT T STl TaTe @ -
(a) CO2 (b) N2 (c) Oz (d) CEC
The substance that damages the ozone layer is -
(a) CO2 (b) N2 (c) Oz (d) CECS
69. el H aTsHcEsi & i forRIy Stemml ot ST 8-
(a) fm (b) woirewes (C) Here I (d) =mer
Which special structures are found in leaves during transpiration?
(a) Vein (b) Mesophyll (c) Vascular pool  (d) Stomata
70. T Tt T & T I &R Frstt ohT SRR ST 8-
(a)1% (b) 100% (c) 10% (d) 20%
The Transfer of energy from one trophic level to another trophic level
(a)1% (b) 100% (c) 10% (d) 20%
71. I T TR & ST SRIRT Tk a1l HToH | Il 8-
(a) THrEEHARTET (b) stz
(C) gmiHieT (d) =ar=rig
Which instrument Used for measured blood pressure-
(a) sphygmomanometer (b) Barometer
(c) Thermometer (d) stethoscope
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72. g s wr e wr e

(@) S fermior (b) =@ fomfor
() Fraterede fimor () it & g
What is the function of nissil's granule

(a) Protein Synthesis (b) Lipid- synthesis
(c) formation of Carbohychute (d) None of these

73, T ST HIETEIESE T o T8 o SUTT=T b I fid ST e |

(a) arHifeE (b) emrifea= (c) TR (d) s
Which hormone regulates the metabolism of carbohydrates, proteins and fats.
(a) Thymosin (b) Thyroxine (c) Testosterone (d) insulin

74. 7Tt ST | eI ST eSS o fohe SRt St iRt o ST T B-

(a) gadt e (b) =meres dhret
(c) sk ciferert (d) = e
Through which type of nerve do nerve impulses from receptor organs reach the spinal cord?
(a) Sensory nerve (b) Conductor nerve
(c) Motor nerve (d) Vengous nerve
75. AT T 8-
(a) T=rEm (b) wegsm (RSEISE (d) g
The stimulating hormone is-
(a) Testosterone (b) Estrogen (c) Adrenaline (d) Progesterone

MATHEMATICS

8. 8
76, ——— " fhE h R |
1-2 sin“ x cos“ x
(a) 1 (b) 0 ©2cos’x—1  (d)1-2cos*x

sin8x — cos8x

is Equal to.

1-2 sin? x cos? x
(a) 1 (b) 0 (c) 2 cos’x — 1 (d) 1-2 cos®x

77. U Uitk o ehT bl SHHTTd &9 H GE&AT 1 ¥ 49 ek 3ifohd foRam 72T B1 2w1ieu fok x o1 wek W @ Tk 3ifera werm
Y B STt HehTHT shl ST T ANT I SIS AT HehHI ohl FEATSAT o AT o6 e | Tl x o o st ¢ |
(a) 34 (b) 35 (c) 40 (d) 378 & IS T
The houses of a row are number consecutively from 1 to 49. Show that there is a value of x such

that the sum of numbers of the houses preceding the house numbered x is equal to the sum of the
number of houses following it. then x is equal to

(a) 34 (b) 35 (c) 40 (d) None of these
78. freaferfiaa & & i it s foreft srea i wfdrerar 7 & 2
(a) 0.7 (b) 0.25 (€)2.5 (d) 75%
Which of the following numbers is not the probability of any event ?
(@) 0.7 (b) 0.25 ()25 (d) 75%
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79. Gort STHERAT Gl e 5 © forgen fraftor & suaft gar? |

(a) ATER (b) TR (c)TTE (d) T8 T H1g T
The comulative frequency table is useful in the determination of the Following.
(a) mean (b) median (c) mode (d) None of these

80. ffetfiaa fordom & sigerer ot R 2 |

i 0-10 10-20 20-30 30-40 40-50

SHETRAT 15 20 45 15 25
(a) 10-20 (b) 20-30 (c) 40-50 (d) T8 9 5 T

In the following distribution what is the modal Class
Class 0-10 10-20 20-30 30-40 40-50
Frequency 15 20 45 15 25
(a) 10-20 (b) 20-30 (c) 40-50 (d) None of these
81. 7fe fsig R(a, b) fsigal P(0,0) T Q (0,2) i et aTett @ Te W & al ftletiad # & i e € 2

(a)a=0 (b) a=2 (c) b=8 (d) 315 & &g T

if point R(a, b) is on the line Segment joining Points P (0,0) and Q (0,2) then which
of the following is true ?.
(@a=0 (b) a=2 (c)b=8 (d) None of these

82. If< tan@ + cat@= 6 8l tan” @ + Cat’@ FTHAHAR |

(a) 25 (b) 27 (c) 34 (d) 0 9 IS T8
if tan@ + cat@ = 6 then value of tan2 8 + Cat2@ is.
(@) 25 (b) 27 (c) 34 (d) None of these
83. Ife Sec® +tan@+1 = 0 dF SecO- tanO ‘OFTII'FT% |
(@)1 (b) -1 (©0 (d) 2
if SecO +tanO+1 = 0 then the value of SecO- tan@ is.
(@)1 (b) -1 (©0 (d) 2

84. {3 D, FABC % &0t AC W e w fiig 2, Stafss BDLAC 7o DMLBC 3k DNLAB 2 @ DN fopwr
% T E |

D LN
C L
M
(a) DN.MC  (b) DN.CD (c) DM.AN (d) 78 & =1g T
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IN Fig D is a point on hypotenuse AC of AABC, such that BDLAC, DM1BC and DNLAB then
DN?2 is equal to.

M

(a) DN.MC (b) DN.CD (c) DM.AN (d) None of these

85. 91 P(x) = 3x3 + x2 + 2x + 5 &I q(x)=x2 + 2x + 1 & W7 AT ST AT WRTHS T =TT ST -
(a)1 (b)2 (©3 (d)4
if P(x) =3x3 + x? + 2x + 5 is divided by q(x)=x? + 2x + 1 then degree of quotient will be-
(@)1 (b) 2 (©)3 (d) 4
86. A (-5, 3) 3N (5,3) Ueh WHATE oyt o a1 3 &, A1 et =i o Fcwien s hifoe feam man &, for 7t foig Byt
3 37 AT R
(a) (0,-4.5)  (b)(0,-3.5) (© (0,-5.5) (d) 37 @ IS T

if (-5, 3) and (5,3) are two vertices of an equilateral triangle, then find co ordinates of the third
vertex given that origin lies inside the triang]le.

(@) (0,-4.5) (b)(0,-3.5) (c) (0, -5.5) (d) None of these
87. TGIE (y* - 3y+1).(y -4y’ +y’ +3y) F =@ 2 -
(a) 6 (b) 7 (©)3 (d) 4
The degree of the polynomial (y2 - 3y+1).(y® =4y3 + y2 + 3y)
(@) 6 (b) 7 (©)3 (d) 4
88. x-y = 0 T ITTRG HHT T T Bt 2
(a) X 3787 % THMIHR (b) Y 37&7 % HHTIaK
(c) Tt & forg & i ATt (d) ST & 18 7
Which Type of straight line will be the graph of x-y = 0.
(a) parallel to si axis (b) parallel to y axis
(c) passingh through origin (d) None of these
89. Toig (13,19) ¥ x-37&T W STel 7T el T TS € |
(a) 13 (b) 19 (c) 32 () 6
The length of perpendicular from point (13,19) to x-axis is.
(a) 13 (b) 19 (c) 32 (d) 6
90. 21 wfdedl gt sht AT Tt WSl fl HT e R |
(a) 4 (b) 1 (c)2 (d)3
The number of common tangents of two intersecting circles is.
(a) 4 (b) 1 (c) 2 (d)3

91. IS 3TTHIT H XZ||BC ,AZ = 3 T, ZC =2 T BM = 3 &t 3T MC = 5 9/ 8 @1 XY 3l TalTs ford ok
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T E |

B M C

(a) 1.2 Tt (by328#  (c) 1.8 THT (d) 2 ot

In the given fig XZ is parallel to BC.AZ = 3cm, ZC=2cm BM = 3cm and MC = 5cm then length of
XY.

B

M

(@) 1.2 cm (b) 3.2 cm (c) 1.8 cm (d) 2cm
92.afE (2x-1), (3x+2) 3 (6x-1) Tohet THTAT 2A0ft o 1 SFATTT Ue & T x T A BT |
(a3 (b)2 ()4 (d)1
if (2x-1), (3x+2) and (6x-1) are three Consecutive terms of an A.P then the value of x is
(a)3 (b) 2 (c) 4 d)1
93. ﬁgaﬁ (acos 0, 0) 3 (o, a sin ) %aﬁaaﬁ’raﬁ% |
(@) 2a (b) 4a (c) 3a (d)a
Distance between the points (acosé, o) and (o, a sin#) is.
(a) 2a (b) 4a (c) 3a (d)a
94. AfE P T ST YOI @ AT UFTeHe @ UTTeh T &9 B2
(a) 2P (b) P+1 ()P (d) 2P+1
if P is a positive integer then the form of positive even Integer is.
(a) 2P (b) P+1 ()P (d) 2P+1

95. af¢ AB=QR, BC = PR 3R CA=PQ 2l

(a) AABC = APQR
(c) ABAC =ARPQ
if AB=QR, BC = PR and CA=PQ than
(a) AABC = APQR
(c) ABAC = ARPQ

96. 3+2% = (64)" + (27)1/3 Tt x 1 T BT
(a) 14 (b) 8

(b) ACBA = APRQ
(d) APQR = ABCA

(b) ACBA = APRQ
(d) APQR = ABCA

©)5 )3
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3+2% = (64)"2 + (27)1/3 then x is equal to.

(a) 14 (b) 8 ()5 (d)3
97. (25 x2- 1) + (1 + 5x)2 T HEE 27
(a) (5+x) (b) (5-x) (c) 10x (d) 5x-1
(25 x2-1) + (1 + 5x)? is a factor ?
(@) (5+x) (b) (5-x) (c) 10x (d) 5x-1
98. R 6 FASRIHR WRT T &t T BT Sreeh! e 2rwﬁﬁm'ﬁ1§%% ?
a) mrl b) 2 mrl Q) nrl d)ym(r+1
2
What will be the area of the curved part of the Cone whose base radius is 2r and Slant height é
a) mrl b) 2 mrl Q) nrl d)m(r+1
2
99. COSA—Sl:nA+1 1%5{:[% % |
cosA+sinA-1
(a) cosecA - CotA (b) Ltcos
1-cosA stnA .
(©) ~ina (d) 3 & S TR
cosA-sinA+1 . 1t
cosA+sina—1 1> €quaL to.
(a) cosecA - CotA (b) Ltcosd
sinA
(c) oA (d) None of these
sinA
100. TEt forsheq € |
(a) cos A = g (b) cos A = % (c) cos A= % (d) cos A = Z
Correct option
(@) cosA = % (b) cos A = 15—2 (c) cos A= % (d) cosA = %
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